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Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Each question has an internal options.

PB2070 [Total No. of Pages : 2

SEAT No. :

Q1) Attempt any 5 questions having 2 marks each. [5×2=10]

a) Define capitalism.

b) When WTO was established and where?

c) What is multilateral trade agreement?

d) _______ is a distinctive sign. Which identifies certain goods or services
as those produced or provided by a specific person or enterprises.

i) Patent

ii) Trademark

iii) Copy right

e) ______ was established on December 27, 1945 and came into operation
on March 1, 1947

 i) IMF

ii) IBRD

iii) WTO

f) _______ is the shift towards a more integrated and independent world
economy.

i) Globalisation

ii) Liberalisation

iii) Privatisation

g) Who was the Hegemonic pretender to United States in 1945 to 1971?
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Q2) Solve any two [2×5=10]

a) Explain the functions of GATT.

b) Elaborate the effects of Globalization on Indian Economy.

c) Explain the theory of Hegemonic stability.

Q3) Attempt any one out of two [10]

a) Discuss the impact of trade wares in liberalized economy.

b) Explain the process of dispute settlement GATT & WTO.

Q4) Attempt any one out of two. [10]

a) Explain the role of (IMF) international monetary fund in international
monetary system.

b) Elaborate what are copyright and neighboring rights.

Q5) Attempt any one of two. [10]

a) Highlights the factors that impact gold price fluctuations globally and in
India.

b) What opportunities and challenges does Brexit present for emerging market

in global economic context?
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